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EXAMINATION FOR INSURANCE SURVEYORS

PRINCIPLES AND PRACTICE OF GENERAL INSURANCE AND
‘ SURVEY AND LOSS ASSESSMENT

g 362 ) ' . [aeretE: 100
Time: 3 Hours] ‘ - [Total Marks : 100
Rt ame Wl 35 e AR 1 o e 3 16 st & v e it
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Answer eight Questions only. Question one carries 16 Marks but this is not compulsoxy
All other questions carry 12 marks each.
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1. a) 'Whatis meant by utmost good faith in the insurance contracts? 4 each
b) Give four examples of material facts.
¢) How does breach of utmost good faith undcr an insurance contract
void or voidable?
d) Explain how utmost good faith applies to insurers.

2, m&maﬁmm@mmemmwwﬁrm 12
- Twd?

2. While awardmg survey assignments, what are the attributes in a surveyor 12
that every insurer looks for?

| 3, ﬁaﬁmmﬁzwmmﬁmmmm(m%m 12
- A ah )




2 S S-01
Describe the Survey procedure generally followed by Surveyors (Choose 12
any Class of insurance for the answer) '

sﬂﬁmaaiﬂqﬁm%%gmghﬂﬁmmiaﬁmﬁﬁmﬁaﬁﬁm 12
T AR -

Define physical hazard and discus's methods of dealing with proposals 12
involving bad physical hazard. :

ﬁ-{fmummm: | (54 39)
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2) it T i e R

Write short notes on any three. ' f 4 each
a) Electronic equipment insurance

b) Pablic liability poticy

¢) Fidelity Guarantee

d) Fire Loss of Profits policy

(e 5 4 37%)
6. ) mmmﬁaﬁmwmmﬁaﬁﬁ
’ i) ﬂfﬁiﬁl‘ﬁ
ii) T e ?
) mga:wgammﬁnmmmﬁmﬁ? - 4

a) Give reasons why the following policies are “Valued’ policies. 4 each
i) Marine cargo ‘ - . :
ii) Marine hull?

b) How does Fire Reinstatement Value policy differ from standard fire 4
policy? .
aﬁ.m.sﬁ.m.ﬁﬁ@%mqﬁﬁ%mg@s (5 ¥ 6 90%)
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3 - S-01
As per IRDA Regulations mention six important - 6 each
a) functions of a surveyor

b) duties of a Surveyor under code of conduct |

&) < R R 3y 7 W §9
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a) What is the meaning of insurable interest?

b) Give four examples of insurable interest.

¢) When insurable interest is required in marine cargo insurance?

d) * What is the effect on insurance contract when there is no insurable
interest? :

LA SO R N

. IR a.q.-ﬁmﬁ%aiavhﬁmmmmﬁ@m 12
wRw? |

Under IRDA Regulations what are the records that a surveyor should 12
maintain?

. Pt v e Rfirt e - (%54 37m)
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Write short notes on the following:- 4 each
a) - Sale by public auction

b) First loss insurance

¢) Rules for construction of policies
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EXAMINATION FOR INSURANCE SURVEYORS

FIRE INSURANCE .

T : 36 ) . ' [t 37 : 100
Time: 3 Hours] L [Total Marks : 100
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Answer eight Questions only. Question one carries 16 Marks but this is not compulsory.
All other questions carry 12 marks each.

c Marks
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1. ‘Antoward furnishes’ have insured all their furnitures and interior 16
decorations of their showroom for an amount of Rs.10 lacs. They removed
all stocks from the showroom and set fire to it. They claimed full sum
" insured as the loss amount. ~ -~ : ' -
How will you deal with this case? Which policy condition comes to your
aid in dealing with fraudulent claims? ‘

2 rTeEm———— kR
g 81 9 Ieorg IR . -

2. - Describe the scope of the cover under Riot, strike and malicious damage . " 12
endorsement at;ached to a Fire policy.

3. yzmmm%ﬁmmﬂmﬁ? » B, ¥

3.. What are the qu{cial provisions of Reinstatement value clause? 12
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- @) Give definition of Proximate cause, A IR 6 each -
b) Whatis the importance of Proximate cause in fire insurance, _ '
Fraftife 3 e 3 ; (% % 6 i)

%) 3t fon Q vt P vt |
7) 'Wamﬁw‘aﬁmﬂwﬁﬁa’ml

Explain the following;:- _ ‘ 6 each
a)  Implied conditions related to Fire insurance. . . '
b) Classification of Fifteen conditions of the fire policy into three groups.

8 e i e <8 g 1 e i i

Speci‘fy tﬁe.contgnts of a final survey Report of Loss Assessment, - B 12

: mm%m\mﬁwmmwmﬁ"&mm’ﬁm 12
Fifre ‘ -

W T = 1,00,000 2 3t e 3 ik et &
R A . 2,00,000 ¥ et o v o s A &
R T w. 1,00,000 3t it 1 g . 2,00,000 81
IR R AR . 75,000 7 T w0 1,00,000 2

Apportion the loss amount on Ihdependcrit Liability under the following 12
2 policies:- _ . S

Policy ‘A’ - covers stocks only for Rs.1,00,000 © -

Policy ‘B’ - covers machine;y & stocks for Rs.2,00,000 .

Value of stocks is Rs.1,00,000 and machinery value Rs.2,00,000

The loss on stocks is Rs.75,000 and on machinery Rs.1,00,000.
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What are the benefits available to the insured by taking following policies: 6 each
a) Declaration Policy ' .

~b) Floater Policy .

10.

%) iR T e ) (57 % 6 %)

9 -mwﬁmmwﬁﬁmﬁmﬁﬁlm%

10.

a) Give the meaning of ‘FIRE’ in insurance contract. 6 each
b) Mention Incidental damages covered following ‘FIRE'.
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EXAMINATION FOR INSURANCE SURVEYORS

: MARINE CARGO INSURANCE
W3 ue i S

[ 37 : 100
Time: 3 Hours] 7 ' » [Total Marks : 100
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Answer eight Questions only. Question one carries 16 Marks but this is not compulsory.
' All other questions carry 12 marks each.

Marks
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L. A large'consignment of flour in bags has arrived damaged by contact with 16
water. What methods will the Surveyor use to assess the degree of damage
to the consignment, assuming that the loss is covered by the insurance

policy? ‘
2. S I TR 5 SR e ‘et A S, WARH 12
1R RUR NN R

2. Whatare the terms and conditions of carrier when the goods are carried at 12
"~ “Owners Risk” and “Carriers Risk”? ' ' -

3. e e v 2t gt 1 Q6 35 o o o) s
A , : , : (RFF6 3iF)
%) & it @, |
G) & e T el a9 w?

3. Goods are damaged by an insured peril. What is the measure of indemnity 6 each
for such damage if: : '
a) the damage is partial;
b)  the damage results in total loss?
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What losses are excluded under Institute Cargo Clauses? 12
Prferfar 3 0 W : B (5 3 4 3%)

F) w g S/sTE
q) W S e s
) g v gl A

. “State the functions of 4 each
a) General Average Deposit

b) - General Average Bond -

¢) General Average Guarantee

%) WS ' ' (7% % 4 30%)
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a)  Whatis the concept of Freight? 4 each
b) What are different Types of Freight? :
¢) How Insurance of Freight is done?

qﬁﬁmmﬂqﬂw%mmﬁ@mm%ﬁmﬁm 12
¥ Ry Aot < e 2 B &7

Define Sue and Labour Charges and state the liability of the insurer for -~ 12
these charges under a cargo policy. )

.'wmmm%mmaﬁmmma‘?'_ | o

What is the measure of indemnity under a Duty Insurance Policy? 12
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9. What are the measures that a surveyor should recommend to minimize 4 each

loss/damage in following consignments:-

a) Carpets
b) Cotton goods
¢) Tiles?

10. F) e e i 3 Faftre oy 7 8 9 |

) mﬁwwﬁmm,oo,ooo,mwm,%maﬁﬁaém

, a.zo,ooo%mmaﬁaiwaﬁméuswaﬁaﬁwmﬁamﬁ
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W G R e - %.1,10,000
AR S e - . 88,000

witrelt i e e o 3 s
WMmeaﬁmmmﬁmwwmm&
B TR R ' .

10. a) What are the special features of Increased Value Insurance?

b) A consignment of goods is insured for Rs. 1,00,000, so valued and
there is an increased value insurance for Rs.20, 000, These goods are
damaged by a Peril Insured against.

Gross Arrived sound value =  Rs. 1,10,000

Gross arrived damaged value = Rs. 88,000 ;

The Policy is subject to increased value Insurance clause. Calculate
the claim payable under the original policy and as the comiponent
covering increased value.’ :

== THE END -.....
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EXAMINATION FOR INSURANCE SURVEYORS
MARINE HULL | '

P vt i g v 12 3t €

All other questions carry 12 marks each.

S-04

(et 3t £ 100
[Total Marks : 100
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Answer eight Questions only. Question one carries 16 Marks but this is not compulsofy.

1. mﬁé%mm-m%mﬁmm%aﬁmﬁm%ﬁﬁM
, mwmﬁw,mvﬁW%mesﬁﬁ?

When a ship is seriously damaged by an insured peril but is not totally
lost; what are the requirements for survey? '

ﬂaﬁmwﬁ%m?ﬁwmﬁmmwwé,m

o Pt YR a6 -

i) e B R B - ¥.80,000
ii) TR F E AR A A - ¥ 1,00,000
g R TR SO A -

T - ¥. 1,80,000

o e e TR T e SR T Sl - € 1.10.83 H TR g
1 7w e 6 59 29 A 3 Freer sTem? n

Arising out of collision of the vessel a boiler in the engine room bursts,

causing following loss/damage:-

i) Cost of repairing boiler - ’ - Rs. 80,000

i) Cost of repairing damage to;engine room and other - Rs. 1,00,000

parts of ship damaged by bursting of the boiler.

‘ Total - Rs. 1,80,000.

Explain how this claim will be dealt with if the hull and machinery are
insured subject to Institute Time Clauses- Hulls, 1.10.83 -

arks

16
16

12

12
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. - Describe the circumstances under which the following may occur:- 6 each :
)  Actual Total Loss of a ship ' o
b)  Constructive Total Loss of a ship

: Wmm%mmﬁ.mml.wsﬁﬁ%méqmum' 12
T B s At 29 v 4 40 59 97 35 e i ,
- How does the % ®* collisions Liability Clause of ITC- Hulls 1.10.83 extend 12

the liability of an insurer under a hu]| policy? Summarize the provisions
of the clause. :

: ﬁwﬁﬁqa‘ésaimh@'ﬂaaﬁmaﬁmmé:. (% % 6 %)
) W I R \ '
ii) oY qie?

- What is the warranty of seéworthincss of a ship under the following: 6 each
i)  Voyage Policy o
if) . Time Policy?

. mtﬂa,qm%aﬁ@ma}aﬁf%m%aﬁ.ml.m&%aaa 12
sﬁmam%n1.1.2'007@1214%1#%1%11;,@1.1.2008@12%‘\#% ’
fere |

1.9.2007 3% ey svrde 3 e & e w8, 79 1.3.2008
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6. A vessel is insured under ITC- Hulls 1.10.83 for two consecutive years: 12
from 1.1.2007 for 12 months and from 1.1.2008 for 12 months. '
On 1.9.2007 she sustains stranding damage which remains unrepaired,
and on 1.3.2008 she becomes a constructive total loss following a fire.
Comument on the insurer’s liability for unrepaired stranding damage. -

1. W@WMmmg@mawmma,m .

) ¥ G el
7. Briefly explain the mainrisks undertaken by the Protection and Indemnnity 12
Clubs? : ' i
8. ﬁmmm%ﬁaﬁﬁmmmﬁWWWﬁﬁm 12
oot 1 SevrE ) | |
8. State the information and details required in the Proposal Form under 2 12
hull insurance policy. -
9, ‘mreyw W o AR | e e R P e A €2 12
i) s gl =g ‘
i) g e dEIR
9. Define “Salvage Charges”, In what way do such chargés differ from: - 12

i) General Average Expenditure
ii) Sue and Labour Charges

10.~ﬁamaﬁ.méﬁzasmaaﬁaml.m.sﬁaﬁﬁmmr 12
mm%m,mﬁaﬁmm,{ém%mﬁmﬁ%ﬂ~ -
mﬁmwmﬁﬁm@ﬁmaﬁmﬁmmmam%l =
mm@mmmmé,mmmaﬁaaﬁﬁi

10, Vessel M.V “NALANDA" was insured under Institute Time Clauses- 12

Hulls, 1.10.83. During the currenéy of the insurance, the vessel had, without ;

- previous notice thereof to the insurers, sailed with the intention of being
broken up. On the way, the vessel becomes an actial total loss.

Discuss with reason the claim that may be made on the insurers.
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EXAMINATION FOR INSURANCE SURVEYORS

- ENGINEERING INSURANCE

Time: 3 Hours) : [Total Marks : 100

. Answer eight Questions only. Question one carries 16 Marks but this is not ompulsory,
All other questions carry 12 marks each. :

V , . Marks
L 3) mammm%mmmmﬁmmﬂ 8
IiE FR '
3) m-amnﬂawﬁammmva‘wmﬁlmﬁaﬁmﬁ 4
WU S e | - o
%) mm%mmmﬁmaﬁwaﬁm. 4
1. 2 Mention the terms & conditions of Marine cover under a Marine- 8
-cum-Erection Insurance Policy, .
-b)  Whatare the advantages of this policy as compared to Separate Marine 4
Cargo & EAR insurance policies? =~ '
¢) Describe the duration of cover under this policy. 4
2 mﬁmmwmmﬁwmu N 12
2. Write a comprehensive note on electronic equipment insurance, 12
‘ ' (7 ¥ 4 373,
3 ﬁmmmmﬂaﬁﬁwﬁamaﬂwaﬁm:
) 7 sr e
i) g
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Identify the hazards involved in the following civil engineering projects: 4 each
i)  Airport works '
ii) Tunnels
iii) Tall Buildings

- _ : ’ (e % 6 3iF)

i) qshwﬂgaﬁﬂaﬁﬁm%.mﬁ‘amﬁmﬁ’w‘mm |
- W Y & S : '
i) mmmmﬁmﬁmwmaﬁﬁml

i) Explain the terms “Indemnity Period” & “Material Damage Proviso” 6each
" - in relation to machinery Loss of profits insurance. :
ii) Discuss common hazards associated with material handling

" equipments. ‘

%) mmmm’wmmmmm%?' (e 5 6 33%)
%) el 3 sta @ e a1 Jeerd T

a) Whatcoveris providéd By the machinery insurance policy? 6 each
b) Mention six major exclusions under this policy. _
- | ' (57 ¥ 6 35%)
L ) e T o ey R afofer e afy Rt Frafor 35 R St

27 .
9) wmammsﬁmmmmmml

a)  How is the sum insured fixed under machinery loss of profits policy? 6each
b) Mention important risk assessment factors under this policy.

~

) Prefeifiae i & Rredt oy e iR foroaiorl fefee: (AT 4 3F)
- ) et SRRt e Rl ¥ S S ' :
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10.

; 3 , ‘ -8-08
Write short notes on any three of the following:- ‘ 4 each
a) Exclusions that are common to al] Engineering Insurance policies

b)  Third Party Liability cover under CAR/EAR insurances,

c) Owners Surrounding Property

d) Maintenance warranty under EE[ policy

N | (wE6a)
%) mmﬁmmﬁmmmmﬁw%@m
e 87 ‘

) wmmmmmmﬁmqm,mmam

a) How is the Indemnity Period fixed under Advance Loss of Profits 6 each
policy? o

b) Mention the risk categories in which there is demand for this insurance
in India and overseas countries, o

mmmwmmm#g@ﬁmﬁa&m 2
ifr) - ;
Idenﬁfy the features of a Firg Control System at a project site. S 12-
' | | . (m¥es)
3) %mwmkmmmm%mm%mmﬁ

=4 i '

)] wm%mwmﬁmmw:

10

a) Describe the scope of cover under Contractor’s Plant and Machinery 6 each
Insurance policy. o

b) Mention the major exclusions of this policy,

e v 1:4Y)) JR
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EXAMINATION FOR INSURANCE SURVEYORS
' MOTOR INSURANCE

3w (gt 3id £ 100
Time: 3 Hours] ' [Total Marks : 100
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Answer eight Questions only. Question one carries 16 Marks but this is not compulsory. "

All other questions carry 12 marks each.

Marks
L. waﬁ/ﬁﬂmqﬁwwaﬁ%aﬁmmm‘waﬁaﬁtmaﬁ 16
sl FueE AW

1. Whatare the ‘DO’s & ‘DON’T’s to be observed by the insured after any | 16
own damage /theft and T.P. claim?

5t v 5 e e () 5 W et A o

2. Describe in brief the different types of motor (own damage) claims. 12

3 < e T e U W € 7 e o v § e AT 12

3. How insﬁrance is connected to Road safety? Write in detail giving your 12
. Views. ‘ :
4. ﬁam&ﬁ#niawm@mﬁaﬁwml a 12
4. Explainthe importance of any Five important conditions in a Motor Policy. 12
s prfdRwRER R R 0 (Re$4dE)
) o U AR B AT ‘
q) SRR HF I
q) IMIAHAA T

?) imaxm




Short notes: (any three) , 4 each
a) Towing Disabled vehicles

b) Driver’s clause

¢) - Emergency Repairs

d) Voluntary Excess-

msﬁaﬁm%@ﬁawmmmﬁﬁmaﬁmmn 12

Elaborate the contents of Motor own Damage claim Form giving all 12
relevant details. ' ‘

) s T R 31 g § . (R 6 30)
) ‘TEw & i WG oot fofaw

a) What is certificate of Insurance? . 6 each

b) Write on ‘Limitations as to Use’.

ﬁﬁmﬂhm%d@limmam%mmm@ 2
S

Deséribe the scope of cover and exclusions under Section I of Private car 12
Package Policy. ’

i’ 3 e @ g | _ ‘ | 12
) fewehs |

f) e g 3 ot sk T i

Define *Damages’. Distinguish between o o 12

i)  Special Damages and -
ii) General Damages

Wmﬁﬁﬁl.ﬂ@%aﬁtﬁwﬁmﬁﬁﬁmﬁﬁﬂﬁﬁ% 12
T 1.3.2000 1 THEAIE R T g ST 8t St @

mﬁn’mgﬁmﬁmﬁnm%@w%mgﬁaﬁ%ﬁaa
T 9 5 . & 4w, 5,00,000 21




10.

i) Damage to 2 front tyres (total loss) 9,000
i) Wind shield glass broken : ' 7,000
iii) Music system stolen from the car . o 10,000

iv) Metal parts 35,000
v) Rubber Parts ' S 5,000
vi) Labour charges 25,000
vii) Towing charges 3,000
viii) Salvage : 3,000
ix) Claim by society for compound Wall 40,000
x) Claim by Pet dog owner ) o 8,000
xi) Excess - Compulsory 500
- Voluntary ' 1,500

3
ity FreTE e R -
W
D oz o el (@ ) 9,000
i) fiedics Tom@ g2 ™ 7,000
fil) R g T R e 10,000
iv) TamWE 35,000
v) WWE - 5,000
vi) gl IR ' 25,000
vii) ST TR : 3,000 -
viii) et : 4 3,000
Terdiar ¥ ferg S i ' 40,000
i ) 36 TS o 2l 8,000
e - v ‘ 500

- wfss ,500
m%mmmma@mﬂmm. ‘

A private car registered at Ahmedabad R.T.O on 1.12.2008 meets with an

accident on 1.3.2009 due to brake failure and collides with a compound -

wall of a housing society. In the process one pet dog of one of the members
of housing society is also killed. IDV of vehicle is Rs. 5,00,000/-
The damage/loss noticed as under:-

Calculate the Insurance company’s total liability under the policy.

S-06
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WHRCBLLANE
o 3 , o [EeT 3T 1180
- Time: 3 Hours] . [Total"Mailes:: {160
- Peftams vl o fiRen mmme mmqgwaﬁ. :
, Arfeusi R s

Answerdgllt!&iesnmnﬂiy ‘Question one carries:16:Makestbut this is not compulmry }
’ AAll other gusstionsearry 12 matlscenth. '
Maiks~

a:) mmmmﬁm@maﬁmmm§ 12
§ Y ] TR TR :
- 3) Wmmmmmmév 4

1. a) Apersonal accident policyiis deemed to'be: a”bmmﬁt policyandnot 12
‘an indemnity one. Examine: the ‘above statement: thoroughly, also

giving examples.
b)  What areithe: spactdl‘rﬁ&mmstnﬁagmupz‘l?ersamlzmcxdentpolicy. 4
2. Mention the exclusions:appearing in Metickim pulicy. 12
3, mfmmmﬁmm:ml .

3. Describe the various types of. commcrctal deehty guarantee Insurance 12
policies available: in'the:market.

4. mﬁﬁwmmmmm L (RF 4 )
3) Gage fwr ' S '
) Suguics 9et g
F) geliee Al
%) e A o1 ol & R e |
3) mmmmw%mm
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S-07

Write short notes on any three of the following:- "4 each
. a) Sports insurance

b) Proportional Treaty reinsurance

¢) Duplicate Key clause

d) Good feature discount in poultry insurance

e¢) Exclusions under Domiciliary Hospitalisation cover

) ot s A it 3 faftm @l & il SvoRd FE@ AT 8

) I TR & sii o’ S S W 4

a) Indicate the cover proVi'ded under the various sectio_ns of the Bankers 8
Blanket Insurance policy. - ‘

b) Explain the 'excess’ provisions under the above policy. 4

S S g S ) Jumd dom ¥ dee R A AR 12

Wmmmmﬁﬁmﬁlmﬁiﬁwﬁqwﬁ

(Fritmradl) = @ AT :

An Insurance company has asked a surveyor to prepare an Inspection 12

report for Burglary Business premises risk to decide regarding underwriting

of the risk. State the particulars which the inspection report will contain.

S v TR S 3 st uce il & Jh aee 12

Explain the types of policies available under commercial Fidelity 12

Guarantee insurance. : ’

o S R e R 2 ) 36 B aRa W SR 12

An all Risk policy does not literally mean so, Examinothe statement giving 12

examples. :

(30 % 4 3i%)
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3)

a)

b)

c)

« 3 _ .
U SRt iR 25% Fo A SR WA I E. 125 Ry

R it 61 1 9 sl . 6,00,000 9 Wy o &1 7

wﬁmﬁ'@sﬁm«mmﬂ{a& 3.753@%1@]217 |

U et Enit? |

mmliﬂﬁﬁ%—mmaﬂﬂﬁﬂéﬁﬂ i S s, 10
m%mwﬁaaﬁwﬁaﬁ(ﬁaﬁma 1.5 %% &1 wiierdt
%m&vﬁ%ﬁﬁﬁﬁmtmmﬁma 15 wrg 3t

T TR . 2 55 &1 7R 1 39 & et R v
A Personal Accident polfcy has been issued for a cover inclusive of
weekly benefits, for a Sum Insured of Rs, 1,00,000: The cumulative
bonus there under is 15%. The insured is involved in an Accident
which results in his total disability for period of 8 weeks. What is the
amount of claim payable? '

~ A25% Burglary first loss policy has been issued for a sum insured of

Rs.1.25 crores. A oss of Rs. 6,00,000 (six lacs) occurs there under.
It was however found that the total value of property at risk just before
the loss was Rs. 3.75 crores. What is the amount of claim payable?
Money policy is issued for 12 months with per carrying limit Rs, 10
lacs and the estimated annual carrying turnover of Rs.1.5 crores. In
the 10" month of policy a loss occurs of Rs.15 lacs during transit
from.the Bank to the Insured’s office. It was due a hold-up. It was

- however noted that in the first nine months of the policy the insured

T
¥) Y = A

%)
%)

3)

had a transit turnover of Rs.2 crores. Examine the admisibility of the
claim and quantum thereof; if payable. .

1 oy
Tt of e
IR W Yl

m.gawwwam%wamm%mmm

S-07

4 each

(%3 a7m)




‘ 4
10. Explain the following in respect of Cattle Insurance
a) Meaning of word Cattle. :
b) Insurance coverage :
¢) Permanent Total disability -
d)  Four common exclusions.

S-07
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EXAMINATION FOR INSURANCE SURVEYORS

. . LOSS OF PROFITS (FIRE)
. W3R , [FeT 3l : 100

Time: 3 Hours) , o [Total Marks : 100 -
wmmaamamnmmmmamanwm |
Iy welt v 3 fve v 12 sm gl

Answer eight Quéstions only. Question one carries 16 Marks but this is not compulsory.
: All other questions carry 12 marks each.

1. IR R i 5 e Marks
) 39 e R ' 6
) RS &9 1 R ffReg e :
i) AR A w2 AR e
o i) T ) e st s AR
7) mmm(aﬁm'm)a;wﬁmmw%? 6

%) aﬁwww@mﬁmmﬁﬂwéwﬁmwmﬁmé? 4
L. Inloss calculation under Conse'quehtial loss policy,
a) Explain how :- :
i) the rate of gross profit is ascertained
ii) the reduction in turnover is ascertained
iii) pro-rata average is applied for under insurance.
-+b)  What limitations apply to payment of increased cost of working 6
" (additional expenditure)? . ‘
€)  What is the effect of savings in insured standing charges on the 4
final amount payable?
2. 3) “oifow ol i S Ivae amy (%6 %)

3) mwm(am)m%mwmﬁmm%
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a) State the provisions of ‘Material Damage’ clause.
b) What are the reasons for incorporating these Provisions under Loss
of Profits (Fire) Policy?

) MWW$WWWWHWW$W

%y = oo ST o
3) mmwﬁmnﬁm@maﬁa@@

.~ a) Explainthe method of computation of Sum insured (on gross profit

basis) under consequential loss policy.
b) What precautions have to be taken by the insured to avoid under
insurance? :

s (o) AR R e 0 A A
R TR .

 What is the purpose of ‘adjustment clause’ incorporatedin the specification
of Loss of Profits (Fire) policy? .

ﬁqﬁmm%mwaﬁa&mﬂmw|

S-08
_ 6each

12

12

12

12

o) WA B ~ - 3,00,000
5) fod o o 2R © - 12,00,000
F) g ol 1 A A - - 10,00,000
3) a3 FO AR AR - 4,00,000
%) r¥aTeH are | 9t , - 50,000
Q) s T - 16,00,000 '
) oo o - 3,00,000
;hz:-ﬂsmwaﬁ.wwﬁmm%

Work out the loss amount giveri the following data:-

a) Grossprofit - - 3,00,000
b) Tumover of Financial year - - 12,00,000

¢) Standard turnover of Indemnity Period - 10,00,000
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8.

9

3 ; , S-QS :

d)  Actual turnover due to interruption A - 4,00,000

€) Increase in cost of working - 50,000
)  Annual turnover - 16,00,000
g) Sum insured -

.3,00,000
N.B. It is assurned all standing charges are insured, ‘

. mmﬁmﬁ)m%mmﬁmmmaﬁ

12
'Which are the cdnsequential losses not covered under é Loss of Profits 12
." (Fire) policy? “ '

: Mmm%ﬁrﬁwﬁaﬁrmmm; N

Describe the main features of éonditions which are special to consequential

loss policy. : E

3) “FR S ﬁﬁﬁ%mmmaﬁm%ﬁﬁﬁ? (T ¥ 6 37%)

) WRtfSARwRY .

a) . How do you arrive at the Sum Insured ﬁnder ‘Difference Basis’ 6 each

specification? _

b) What are the advantages of this specification?
.‘Wmmmmm: o (= § 4 37).

%) @ SR 4 S ,
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%) fvrfe safs

%) T Yo v ‘

Write short notes on any three : o 4 each

a) On account payment

b} Return of Premium clause *
¢) Departmental clause

d) Gross Fees policy

12 -

12




_ ' 4
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10. a) Give examples of Output which may be used in the Output

specification.

b) Mention the circumstances under which output basis is used.
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